
Math-2A
Lesson 10-6:  

Volumes of Spheres, Cylinders, 
Cones, Pyramids, and Prisms



What does “volume” mean?

1 inch

1 inch

volume = (1 inch)(1 inch)(1 inch)

3inch 1  volume =

volume = 1 “cubic inch”



What is the “volume” of the shape?

volume = 2 cubic inches

“how many 1 inch cubes will fit in the shape.”

𝑉𝑜𝑙𝑢𝑚𝑒𝑟𝑒𝑐𝑡.𝑝𝑟𝑖𝑠𝑚 = 𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡



What is the “volume” of the shape?

volume = 8 cubic inches

3inch 8  volume =

“how many 1 inch cubes will fit in the shape.”

𝑉𝑜𝑙𝑢𝑚𝑒𝑟𝑒𝑐𝑡.𝑝𝑟𝑖𝑠𝑚 = 𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡



4 inches

6 in

volume = (2 inch)(4 inch)(6 inch)

3inch 84  volume=

volume = 48 “cubic inches”



What is the “volume” of the prism?

4 inches

3 in

volume = (2 inch)(4 inch)(3 inch)

3inch 42  volume =

height) * base of (area v prism=ol



What is the “volume” of the prism?

10 in

3 in

3inch 06  volume =

What if the base is a triangle?

2

triangle in 6  area =

height) * (base
2

1
  areatriangle=

in) 4 *in  (3
2

1
  areatriangle=

height) * base of (area v prism=ol

in) )(10in (6 v 2

prism=ol

height) * base of (area v prism=ol



The volume of a cylinder is….?

h2

cylinder r  volume =

( )  (10)4  volume
2

=

8 inches

 in  601  volume 3=

10 inches

𝑉𝑜𝑙𝑐𝑦𝑙. = 𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡

𝑉𝑜𝑙𝑐𝑦𝑙 = 502.7 𝑖𝑛3



A cone comes from a cylinder.

h2

cone r 
3

1
 volume = ( )  (6)2

3

1
  volume

2
=

4 inches

 in  8  volume 3=

6 inches

𝑉𝑜𝑙𝑐𝑦𝑙. = 𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡

h2

cylinder r  volume =

The volume of the cone is a what 

fraction of the volume of the cylinder?

1

3

𝑉𝑜𝑙𝑐𝑜𝑛𝑒. = 25.1 𝑖𝑛3



3in 04  volume =

4 in

in  6*in) 5 *in  (4
3

1
 volume =

6 in

5 in

𝑉𝑜𝑙 𝑝𝑟𝑖𝑠𝑚 = (𝐿 ∗ 𝑤) ∗ ℎ

𝑉𝑜𝑙𝑐𝑦𝑙. = 𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡

A pyramid comes from a prism.

The volume of the pyramid is a what 

fraction of the volume of the prism?

1

3

𝑉𝑜𝑙𝑝𝑦𝑟. =
1

3
(𝐴𝑟𝑒𝑎𝑏𝑎𝑠𝑒∗ ℎ𝑒𝑖𝑔ℎ𝑡)



The volume of a sphere is….?

What part of the formula 

gives us the “cubic” units?

3

sphere r 
3

4
 volume =

 
2

6

3

4
  volume

3









= 

6 inches

 in 36 vol 3=

 in 1.113 vol 3=



The volume of a sphere is….?

3

sphere r 
3

4
 volume =

( )  6.2
3

4
  volume

3
=

5.2 in

 in 3.67  vol 3=



h)area base (
3

1
 volume pyramidr rectangula =

h*base) area( volumecylinder =

h*)base area(
3

1
 volumecone =

h*base) of (area volumeprism =

2

sphere r 4area surf. =

3

sphere r 4*
3

1
 volume =



Where is the center of the circle?

Left 3 shift → center is (-3, 0)

2522 =+ yx

25)2()5( 22 =++− yx

25)3( 22 =++ yx

Has not been shifted left/right → center is (0, 0).

center is (5, -2)

What is the radius of the circle? 2522 =+ yx
222 ryx =+ radius is 5

49)7( 22 =+− yx radius is 7

64)2( 22 =++ yx radius is 8


